
Environmental
Product
Declaration
In accordance with ISO 14025:2006 and EN 15804:2012+A2:2019/AC:2021 for:

NOVATOP SWP
from

AGROP NOVA a.s.

Programme: The International EPD® System, www.environdec.com
Programme operator: EPD International AB
EPD registration number: S-P-11846
Publication date: 2023-12-14
Revision date: 2024-08-21
Valid until: 2028-12-14

An EPD should provide current information and may be updated if conditions change. The stated 
validity is therefore subject to the continued registration and publication at www.environdec.com

AGROP NOVA a.s.
Ptenský dvorek 99 • 798 43 Ptení • Česká republika • tel.: +420 582 319 235 • novatop@agrop.cz • www.novatop-system.com V: 04/2025



AGROP NOVA a.s.
Ptenský dvorek 99 • 798 43 Ptení • Česká republika • tel.: +420 582 319 235 • novatop@agrop.cz • www.novatop-system.com

General information
Programme information

Programme: The International EPD® System
Address: EPD International AB 

Box 210 60 
SE-100 31 Stockholm
Sweden

Website: www.environdec.com
E-mail: info@environdec.com

Accountabilities for PCR, LCA and independent, third-party verification

Product Category Rules (PCR)

CEN standard EN 158041+A2 serves as the Core Product Category Rules (PCR)

Product Category Rules (PCR): PCR 2019:14 Construction products (EN 15804:A2) (1.3.1)  

PCR review was conducted by: IVL Swedish Environmental Research Institute Secretariat of the International EPD® System

Life Cycle Assessment (LCA)

LCA accountability: 
Mgr. Barbora Vlasata, 
UCEEB CTU in Prague  
www.uceeb.cz 
 
 
 
 

Third-party verification

Independent third-party verification of the declaration and data, according to ISO 14025:2006, via: 
 EPD verification by accredited certification body 
 
Third-party verification: TZÚS Praha, s.p. is an approved certification body accountable for the thirdparty verification 
 
The certification body is accredited by: Czech Accreditation Institute

Procedure for follow-up of data during EPD validity involves third party verifier: 
 Yes  No

The EPD owner has the sole ownership, liability, and responsibility for the EPD.

EPDs within the same product category but registered in different EPD programmes, or not compliant with EN 15804, may 
not be comparable. For two EPDs to be comparable, they must be based on the same PCR (including the same version number) 
or be based on fully-aligned PCRs or versions of PCRs; cover products with identical functions, technical performances and use 
(e.g. identical declared/functional units); have equivalent system boundaries and descriptions of data; apply equivalent data quality 
requirements, methods of data collection, and allocation methods; apply identical cut-off rules and impact assessment methods 
(including the same version of characterisation factors); have equivalent content declarations; and be valid at the time of comparison. 
For further information about comparability, see EN 15804 and ISO 14025.



AGROP NOVA a.s.
Ptenský dvorek 99 • 798 43 Ptení • Česká republika • tel.: +420 582 319 235 • novatop@agrop.cz • www.novatop-system.com

Company information

Product information

Owner of the EPD: Agrop Nova a.s., 
Contact:  Jan Sušeň 
 Sales manager 
 Jan.susen@agrop.cz 
 www.agrop.cz 

Description of the organisation:  
AGROP NOVA a.s. was established in 2001. Today it is one of the largest and most modern producers of large multilayer boards in Europe. The 
company‘s core product range is NOVATOP SWP multilayer boards and NOVATOP SYSTEM - a comprehensive and in many ways unique building 
system based on cross-laminated timber (CLT).

Product-related or management system-related certifications: 
ISO 9001:2015

Name and location of production site(s): 
Agrop Nova a.s., Lesnická 49, 798 03 Plumlov, the Czech Republic (headquarters and drying of wood)  
Agrop Nova a.s., Ptenský Dvorek 99, 798 43 Ptení, the Czech Republic (plant)

Product name and identification:  
NOVATOP SWP

Product description: 
NOVATOP multilayer boards are made from coniferous sawn timber dried to 8% (larch 12 %). Each layer of the board is made up of slats of solid 
growing timber. 3-layer board consists of two outer layers and one central layer with a perpendicular grain to the grain of the top layers. A 5-ply 
board has two parallel surface layers on each side and one centre layer with a perpendicular fibre path to the fibre path of the surface layers. 
The thickness of the layers can vary and determines the final thickness of the board. The centre layer slats are bonded longitudinally 
and lengthwise bonded either butt or may be continuous. The maximum thickness is 42 mm. The outer layers are made of continuous slats 
with a thickness of 6 or 9 mm and a width of 93 to 143 mm. There is always a single plate the same width of the surface slats and are facing 
the right side of the surface. Longitudinal joints of the slats in each layer are glued together. The adhesive used is waterproof and the bonding 
of the surface slats corresponds to AW 100 or D4 according to EN 204. The sanding quality corresponds to grit 100.

UN CPC code: 
314 Boards and panels

Geographical scope: 
Europe, Global 
For modules A1-A3, A4 and C1-C4 +D a European and Global scale has been considered due to the availability of data for waste scenarios.



AGROP NOVA a.s.
Ptenský dvorek 99 • 798 43 Ptení • Česká republika • tel.: +420 582 319 235 • novatop@agrop.cz • www.novatop-system.com

SWP

Drying of timber 
to the desired 

moisture content

Sorting of timber
and quality check

Timber receipt

Transport into
production

Processing using 
band saws 

– surface lamellas

Pressing of surface 
lamellas and 
central parts

Correction 
of defects

Processing using 
pit saws 

– central lamellas

Gluing of 
central lamellas

Trimming and
formatting to 

the desired size
Surface sandingPackaging

System diagram

LCA information

Functional unit / declared unit: 
1 m3 of solid wood panel – mass 490 kg

Time representativeness: 
< 10 years for background data; 
< 2 years for manufacturer‘s data

Database(s) and LCA software used: 
EcoInvent database v. 3.8; 
SimaPro 9.4.0.2 software

Description of system boundaries: 
Cradle to gate with options, modules C1–C4, module D and with optional modules (A1–A3 + C + D and additional modules). The additional 
modules may be one or more selected from A4–A5 and/or B1–B7

More information: 
The electricity used in the production processes of module A3 is purchased from an electricity supplier and is supported by a Guarantee of Origin- 
it is electricity from renewable energy sources. The share of renewable energy sources was modelled based on the Czech Republic‘s energy mix 
current in the reference period. Its climate impact is 0,255 kg CO2 eq./kWh (using the GWP-GHG indicator). More info about production see 
www.novatop-system.com



AGROP NOVA a.s.
Ptenský dvorek 99 • 798 43 Ptení • Česká republika • tel.: +420 582 319 235 • novatop@agrop.cz • www.novatop-system.com

Modules declared, geographical scope, share of specific data (in GWP-GHG results)  
and data variation (in GWP-GHG results):

Product stage Construction
process stage

Use stage End of life stage

Ra
w

 m
at

er
ia

l s
up

pl
y

Tr
an

sp
or

t

M
an

uf
ac

tu
rin

g

Tr
an

sp
or

t

Co
ns

tr
uc

tio
n 

in
st

al
la

tio
n

U
se

M
ai

nt
en

an
ce

Re
pa

ir

Re
pl

ac
em

en
t

Re
fu

rb
ish

m
en

t

O
pe

ra
tio

na
l e

ne
rg

y 
us

e

O
pe

ra
tio

na
l w

at
er

 u
se

D
e-

co
ns

tr
uc

tio
n 

de
m

ol
iti

on

Tr
an

sp
or

t

W
as

te
 p

ro
ce

ss
in

g

D
isp

os
al

Module A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4

Modules
declared x x x x x x x x

Geography Global Global Global Global Global Global Global Global

Specific
data used >90% - - - - - - - - - - - -

Variation –
products 0% - - - - - - - - - - - -

Variation –
sites 0% - - - - - - - - - - - -

Resource
recovery stage

Re
us

e-
Re

co
ve

ry
-R

ec
yc

lin
-

gp
ot

en
tia

l

D

x

Global

-

-

-

Content information

Product components Weight, kg Post-consumer 
material, weight-%

Biogenic material,
weight-% and kg C/kg

Sawnwood 465 0 100 % /207

Additional inputs – glue and sealant 25 0 0

TOTAL 490 0 95 %/207

Packaging materials Weight, kg Weight-% (versus the
product)

Weight biogenic carbon,
kg C/kg

Packaging film LDPE 0,4 0 0

TOTAL 0,4 0 0



AGROP NOVA a.s.
Ptenský dvorek 99 • 798 43 Ptení • Česká republika • tel.: +420 582 319 235 • novatop@agrop.cz • www.novatop-system.com

 

Results per functional or declared unit

Indicator Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

GWP-fossil kg CO2 eq. 3,10E+02 7,08E+01 ND ND ND ND ND ND ND ND 5,26E-01 4,07E+00 3,73E-01 -1,34E+01 -9,12E+00

GWP-biogenic kg CO2 eq. -1,65E+03 2,00E-01 ND ND ND ND ND ND ND ND 4,12E-04 9,74E-03 1,44E+03 2,14E+02 -0,00E+00

GWP-luluc kg CO2 eq. 1,56E+00 2,62E-02 ND ND ND ND ND ND ND ND 4,15E-05 1,37E-03 2,94E-05 -1,27E-02 -8,17E-03

GWP-total kg CO2 eq. -1,34E+03 7,10E+01 ND ND ND ND ND ND ND ND 5,27E-01 4,08E+00 1,44E+03 2,01E+02 -9,13E+00

ODP
kg CFC
11 eq.

4,16E-05 1,61E-05 ND ND ND ND ND ND ND ND 1,13E-07 9,23E-07 7,97E-08 -2,23E-06 -1,55E-06

AP mol H+eq. 1,77E+00 2,86E-01 ND ND ND ND ND ND ND ND 3,27E-03 1,63E-02 2,48E-03 -7,00E-02 -5,07E-02

EP-freshwater kg P eq. 9,62E-02 4,71E-03 ND ND ND ND ND ND ND ND 1,58E-05 2,73E-04 1,12E-05 -2,72E-03 -3,32E-03

EP-marine kg N eq. 4,27E-01 8,75E-02 ND ND ND ND ND ND ND ND 1,36E-03 4,99E-03 1,05E-03 -1,76E-02 -1,56E-02

EP-terrestrial mol N eq 5,39E+00 9,54E-01 ND ND ND ND ND ND ND ND 1,49E-02 5,44E-02 1,15E-02 -2,05E-01 -1,64E-01

POCP
kg NMVOC 

eq.
1,45E+00 2,90E-01 ND ND ND ND ND ND ND ND 4,18E-03 1,66E-02 3,24E-03 -6,12E-02 -4,66E-02

ADPminerals&metals* kg Sb eq. 2,97E-03 2,33E-04 ND ND ND ND ND ND ND ND 2,11E-07 1,46E-05 1,49E-07 -4,23E-05 -2,94E-05

ADP-fossil* MJ 4,59E+03 1,07E+03 ND ND ND ND ND ND ND ND 7,17E+00 6,15E+01 5,08E+00 -2,04E+02 -1,55E+02

WDP* m3 2,05E+02 3,28E+00 ND ND ND ND ND ND ND ND 1,04E-02 1,75E-01 7,34E-03 -2,57E+00 -3,97E-01

Acronyms

GWP-fossil = Global Warming Potential fossil fuels; GWP-biogenic = Global Warming Potential biogenic; GWP-luluc = Global Warming Potential land use and land use change; 
ODP = Depletion potential of the stratospheric ozone layer; AP = Acidification potential, Accumulated Exceedance; EP-freshwater = Eutrophication potential, fraction of nutrients 
reaching freshwater end compartment; EP-marine = Eutrophication potential, fraction of nutrients reaching marine end compartment; EP-terrestrial = Eutrophication potential, 
Accumulated Exceedance; POCP = Formation potential of tropospheric ozone; ADPminerals&metals = Abiotic depletion potential for non-fossil resources; ADP-fossil = Abiotic 
depletion for fossil resources potential; WDP = Water (user) deprivation potential, deprivation-weighted water consumption

Results per functional or declared unit

Indicator Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

GWP-GHG1 kg CO2 eq. 3,11E+02 7,08E+01 ND ND ND ND ND ND ND ND 5,27E-01 4,07E+00 3,73E-01 -1,34E+01 -9,13E+00

PM
Disease

incidence
2,17E-05 4,93E-06 ND ND ND ND ND ND ND ND 5,62E-08 2,82E-07 4,71E-08 -9,76E-07 -6,06E-07

IR
kBq U235 

eq.
2,46E+01 5,62E+00 ND ND ND ND ND ND ND ND 3,27E-02 3,21E-01 2,32E-02 -1,59E+00 -2,09E+00

ETP-fw CTUe 7,17E+03 8,18E+02 ND ND ND ND ND ND ND ND 4,10E+00 4,70E+01 2,90E+00 -2,00E+02 -1,09E+02

HTP-c CTUh 8,51E-07 2,74E-08 ND ND ND ND ND ND ND ND 7,08E-10 1,68E-09 6,04E-10 -4,94E-09 -6,76E-09

HTP-nc CTUh 4,16E-06 8,18E-07 ND ND ND ND ND ND ND ND 3,66E-09 4,77E-08 2,89E-09 1,18E-07 -1,13E-07

SQP
dimensi-

onless
1,45E+05 7,87E+02 ND ND ND ND ND ND ND ND 9,31E-01 4,23E+01 6,59E-01 -1,51E+02 -9,24E+01

Results of the environmental performance indicators
Mandatory impact category indicators according to EN 15804

Additional mandatory and voluntary impact category indicators

* Disclaimer: The results of this environmental impact indicator shall be used with care as the uncertainties of these results are high or as there is limited experience with the indicator.

1 This indicator accounts for all greenhouse gases except biogenic carbon dioxide uptake and emissions and biogenic carbon stored in the product. As such, the indicator is identical  
to GWP-total except that the CF for biogenic CO2 is set to zero.



AGROP NOVA a.s.
Ptenský dvorek 99 • 798 43 Ptení • Česká republika • tel.: +420 582 319 235 • novatop@agrop.cz • www.novatop-system.com

Results per functional or declared unit

Indicator Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

PERE MJ 2,74E+02 1,06E+01 ND ND ND ND ND ND ND ND 2,80E-02 6,03E-01 1,99E-02 -8,17E+00 -9,02E+00

PERM MJ 2,01E+04 4,25E+00 ND ND ND ND ND ND ND ND 9,13E-03 2,25E-01 6,46E-03 -1,88E+00 -1,89E+00

PERT MJ 2,04E+04 1,49E+01 ND ND ND ND ND ND ND ND 3,72E-02 8,28E-01 2,63E-02 -1,01E+01 -1,09E+01

PENRE MJ 4,59E+03 1,07E+03 ND ND ND ND ND ND ND ND 7,17E+00 6,15E+01 5,08E+00 -2,04E+02 -1,55E+02

PENRM MJ 2,01E+04 4,25E+00 ND ND ND ND ND ND ND ND 9,13E-03 2,25E-01 6,46E-03 -1,88E+00 -1,89E+00

PENRT MJ 2,47E+04 1,07E+03 ND ND ND ND ND ND ND ND 7,18E+00 6,17E+01 5,09E+00 -2,06E+02 -1,57E+02

SM kg 0 0 ND ND ND ND ND ND ND ND 0 0 0 0 0

RSF MJ 0 0 ND ND ND ND ND ND ND ND 0 0 0 0 0

NRSF MJ 0 0 ND ND ND ND ND ND ND ND 0 0 0 0 0

FW m3 2,05E+02 3,28E+00 ND ND ND ND ND ND ND ND 1,04E-02 1,75E-01 7,34E-03 -2,57E+00 -3,97E-01

Acronyms

PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials; PERM = Use of renewable primary energy resources used as raw 
materials; PERT = Total use of renewable primary energy resources; PENRE = Use of non-renewable primary energy excluding non-renewable primary energy resources used as raw 
materials; PENRM = Use of non-renewable primary energy resources used as raw materials; PENRT = Total use of non-renewable primary energy re-sources; SM = Use of secondary 
material; RSF = Use of renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of net fresh water

Results per functional or declared unit

Indicator Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

Hazardous waste disposed kg 1,17E-02 2,75E-03 ND ND ND ND ND ND ND ND 1,93E-05 1,60E-04 1,37E-05 -3,88E-04 -2,68E-04

Non-hazardous waste disposed kg 1,13E+02 5,14E+01 ND ND ND ND ND ND ND ND 8,82E-03 2,95E+00 6,25E-03 -6,95E+00 -6,16E+00

Radioactive waste disposed kg 1,83E-02 7,36E-03 ND ND ND ND ND ND ND ND 4,99E-05 4,21E-04 3,54E-05 -1,21E-03 -1,07E-03

Results per functional or declared unit

Indicator Unit A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

Components for re-use kg 0 0 ND ND ND ND ND ND ND ND 0 0 0 0 0

Material for recycling kg 0 0 ND ND ND ND ND ND ND ND 0 0 0 3,43E+02 0

Materials for energy recovery kg 0 0 ND ND ND ND ND ND ND ND 0 0 0 0 0

Exported energy, electricity MJ 0 0 ND ND ND ND ND ND ND ND 0 0 0 0 0

Exported energy, thermal MJ 0 0 ND ND ND ND ND ND ND ND 0 0 0 0 0

Resource use indicators

Waste indicators

Output flow indicators



AGROP NOVA a.s.
Ptenský dvorek 99 • 798 43 Ptení • Česká republika • tel.: +420 582 319 235 • novatop@agrop.cz • www.novatop-system.com

ISO 14020:2000 Environmental labels and declarations — General principles, 2000-09

ISO 14025: EN ISO 14025:2006-11: Environmental labels and declarations - Type III environmental declarations — Principles and procedures

ISO, 14040:2006 Environmental management — Life cycle assessment — Principles and framework, 2006-07

ISO 14044:2006 Environmental management — Life cycle assessment — Requirements and guidelines, 2006-07

EN 15804+A2:2019 European Committee for Standardization: Sustainability of construction works 

– Environmental product declarations – Core rules for the product category of construction products, 2019

General Programme Instructions of The International EPD® System. Version 4.0, 2021-03-29

Product Category Rules (PCR) document for Construction Products (PCR 2019:14 VERSION 1.3.1, 2022-11-01)

Ecoinvent: Ecoinvent Centre, www.Eco-invent.org version 3.8

SimaPro software 9.0.4.2, Pré Consultants 

References

Differences versus previous versions
In the revised version of the EPD, the balance in the environmental indicator of biogenic carbon has been revised in accordance with Annex 2 of 
the PCR.



www.environdec.com


